@\

16 GA, (MIN) GALV.
RESIDENTIAL TOP ROLLER
BRACKET ATTACHED W/(3)

174" x 3/4° HEX HEAD SCREWS

ADJUSTABLE SLIDE BRACKET
ATTACHED W/ (2 174" X 1/2°
CARRIAGE BOLTS AND NUTS

21 MAX (

SECTION
HEIGHT

<>

547

9'-0*

20 GA. GALV. STEEL END STILE
ATTACHED TO DOORS SKIN WITH
(@) #8 X 1/2° SCREWS PER STILE

1> 1/74-20 x S5/8°TRACK
SPLICE BOLT AND NUT PER
JAMB BRACKET

" GALV. STEEL TRACK
THlCKNESS .040"(MIN.)

N A

MAX

INSIDE ELEVATION

N.T.S.

JAMB SEAL

/DPTIEINAL

TYPICAL TOP FIXTURES

20 GA BACKER PLATE BEHIND

BACK SKIN
0.0
XX )
P
2/-NYLON
o . ° 4 STEM ROLLERS (MIN)

N.T.S.

SLIDE LOCK ENGAGES
INTO VERTICAL TRACK
ON BOTH SIDES (SNAP
LATCH, OR LOCK BAR
OPTIONAL) ATTACH
W/@) 1/4" x 3/4°HEX
HEAD SCREWS

O

TYPICAL CENTER HING

N.T.S.

14 GA. (MIN.D

END HINGE ROLLER

CARRIERS ATTACHED
W/ (4 1/4° x 3/4"
HEX HEAD SCREWS

2°-NYLON
4* STEM ROLLERS (MIN)

TYPICAL END HINGE
N.T.S.

13 GA. BOTTOM BRACKET BASE
ATTACHED W/(@> 174 X 3/4°
HEX HEAD SCREWS

N.T.S

No.1/No.2 SPF or No.2 SYP
2X6

JAMB

Y

\I-\‘

INTERMEDIATE
HINGES 14GA (MIN.)

TRACK MOUNTING

~al

DETAIL

N.T.S.

TRBB-375 BOTTOM BRACKET@

20 GA BACKER PLATE
BEHIND BACK SKIN

©

m

TRBB-375 BOTTOM BRACKET

14GA. (MIN) CENTER
HINGE ATTACHED
W/ A TOTAL DF
(4) 174" x 3/4°
HEX HEAD SCREWS

20 GA BACKER PLATE BEHIND

BACK SKIN AT TOP AND BOTTOM
OF EACH SECTION AT HINGE
LOCATIONS

@

TYPICAL TDP

SECTION ™

EXTERIOR SKIN
27 GA MIN

TYPICAL
INTERMEDIATE
SECTION

TONGUE & GRDOVE
SECTIDN "JOINT

TYPICAL BOTTOM
SECTION ~~_

POL YURETHANE
INSULATION CORE

i
-

\&

R A P e B U A g g g L S )

~14 GA, (MIND
END HINGE ROLLER
CARRIERS ATTACHED
W/ (4) 1/4° x 3/4°
HEX HEAD SCREWS

BOTTOM BRACKET
13 GA. (MIND

SECTION A—A (SIDE VIEW)

13 GA. BOTTOM BRACKET
ASSEMBLY ATTACHED
W/<4) 1/4* X 3/4°

HEX HEAD SCREWS
(2 ON BASE AND

2 ON ROLLER FLANGE>

2° NYLON ROLLER WITH

4.0 (MIN> STEM

N.T.S.

@

INTERIOR SKIN 27 GA

16 GA. (MIN.) GALV. RESIDENTIAL
TOP ROLLER BRACKET ATTACHED
WITH (3) 1/4° x 3/4’ HEX HEAD
UNIV. SCREWS PER BRACKET
ADJUSTABLE SLIDE BRACKET IS
ASSEMBLED WITH (2) 1/4” x 1/2°
BOLT & NUT PER BRACKET

20 GA BACKER PLATE BEHIND BACK
SKIN AT TOP AND BOTTOM OF EACH
SECTION AT HINGE LOCATIONS

REV | DESCRIPTION OF REVISIONS

DATE  [BY

MAX SIZE
9 x 14
DESIGN LOADS
+15.8 PSF
-18.7 PSF

TEST LOADS
+23.7 PSF
—28.0 PSF

Thomas L. Shelmerdine, PE (TX PE #85829)
Structural Solutions, PA (TX Firm #F-004063)

—
x

0

‘\fslé'&A\.E f.-"
VLA™

5921-G W. Friendly Ave., Greensborg, NC 27410

(1 5/16° x 1 5/8°
LAG SCREW PER
JAMB BRACKET

2°-NYLON
4c STEM ROLLERS (MIN)

THE METHOD OF TESTING WAS IN SUBSTANTIAL
CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM
E330 AND DASMA 108. THE PRESSURES SHOWN ON THE
DRAWINGS WERE CALCULATED USING ASCE 7-98/02/05 WITH
THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN
THE END ZONE, ROOF AT ANY SLOPE, AND [=1.0):

WIND SPEED (MPH) 100 91 86 82 79
EXPOSURE LEVEL B C C D D
MEAN ROOF HEIGHT 30’ 15’ 25’ 15’ 25'

ENTREMATIC

165 CARRIAGE COURT WINSTON-SALEM, N.C, 27105

MODEL €500 (CLAMSHELL)
AMARR OLYMPUS

SIZE | DRAWN BY RS

DATE  8/07/15

DRAWNG NUMBER

B | cieckeBy RR

DATE  8/07/15

IRC-C509-100-00

SHEET t OF 3




DearaFrame WINDOW FRAME

OPTIONAL Decra INSERTS
WITH UV PROTECTION -/ WITH UV PROTECTION
MIN. 3/32" THICK SSB
GLASS
N =

I

| liip ‘
J
\_'(:10) 48 X 3/4"
. AN HEAD SCREWS

AT EACH WINDOW FRAME MOLDED INSIDE FRAME

.t

SECTION B-B RESIDENTIAL LONG PANEL WINDOW DETAIL
N.T.S.

OPTIONAL GLAZED TOP SECTION SIDENTIAL LONG PANEL WINDOWS
N.T.S.
SPECIFICATIONS AND NOTES

1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,
FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.
THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD

0 ]

AT U LTI ITLLLA L I LTI RTRRL S S RIS AR I\\\\-.

.
TRANSFERRED FROM THE DOOR. K
2. 'EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF: &
+71.1 LBS/FT & -—84.2 LBS/FT (:;.Igoz TTRR:ccofss PY.{I:E
3. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED N BOLTS & NUTS
AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA. e cost uv> OR
4. DOOR SECTIONS SHALL BE 27 GA. (.015) MIN. EXTERIOR AND INTERIOR ¥ (2 GA. MIN> VERTICAL TRACK
SKIN, ROLLED FORMED, W/ BAKED ON POLYESTER FINISH o
I
- ]
OPTIONAL GLAZED TOP SECTION W/ RESIDENTIAL SHORT PANEL WINDOWS 5. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED & e £ g
NT.S, BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS e Z
INDICATED ON THIS DRAWING N ADDITION TO OTHER LOADINGS. x |3 E g 3
= T
= &N ! 2 3
14 GA. (MIN) FLAG BRACKET
ATTACHED TO wOOD JAMB
W/¢(3) S5/16 DIA, X 1-5/8° LAG BOLTS
38-1/8° INTERIOR OF GARAGE AND TO TRACK W/(4) 1/4°-20 x 5/8* !
—] MAX. WIDTH 90" | TRACK SPLICE BOLTS AND NUTS ! L
2 = z *2 2 3 AVAILABLE TRACK CONFIGURATIONS
- e L NTS.
-5/ DESIGN LOADS Z SEsseessy s
10-5/8 +711 LBS/FT INNNENEEEEE /’ = REV | DESCRPTION OF REVSONS KE  |BY
2 s, -84.2 LBS/FT SEE NOTE 2 /
1 14 GA. SPLICE BRACKET ATTACHED
5 5 3 v 5 3 TO wOOD JAMB W/ (1> 5/16 DIA, X 5
< ‘ -5/8" LAG BOLT AND TO TRACK W/ MAX SIZE &8 o ¥
= y__ - 9' 14’ o Y o~
LONG PANEL GLAZING FASTENER DETAIL ;’])LTI?AN%O N"UTSS/ 8" TRACK SPLICE X §§ N g
NTS. DESIGN LOADS | B9 . .
+15.8 PSF W ry
) 5/16* DIA. x 1-5/8° 187 PSF xE 7 P
| 1 AG BOLT ATTACHED TO JAMB - cE g X e
AT EA. JAMB BRACKET TEST LOADS B X o
+23.7 PSF £ 1 {'/f
EsS -, Ry 2
— = ATTACHED W/(D 1/4°-20 x 5/8° g5 (8 3 K
2 3 2 / TRACK SPLICE BOLT & NUT 53§ Y p'-..(./CENS‘?—?-&@é’: g
i Geangusnt? i
“ 3 3T WOSIONALEY o= 3
£g A o
TRACK ATTACHMENT CAN BE BRACKET 22 &
10-5/8 D-F ~ MOUNT, CONTINUOUS, REVERSE ANGLE 2 TX a
‘ 2 . MOUNT OR TAPERED REVERSE ANGLE
; MOUNT, (SEE AVAILABLE TRACK
C CONFIGURATIONS ON THIS PAGE)
3 o2
| ST S S N ALL TRACK BRACKETS AND TRACK ENTREMATIC
: CLIPS ARE ATTACHED TO TRACK
SHORT PANEL GLAZING FASTENER DETAIL B WITH ¢2) RIVETS OR (1) 1/4°-20 165 CARRIAGE COURT WINSTON-SALEM, NC. 27105
NTS. —A BOLT & NUT
* ALL TRACK BRACKETS OR TRACK
!{ CLIPS ARE TO FOLLOW SPACING AS MODEL C500 (CLAMSHELL)
INDICATED AMARR OLYMPUS
TRACK CONFIGURATION FOR UP TO 14’ TALL DOORS SE | ORAWBY RS | DA _B/0/13 DRAMAC MAGER
SEE TABLE | B | ciecxmpy RR| DATE 8/07/15 IRC-C509-100-00
SHEET 2 OF 3




TABLE 1

DOOR TRACK ATTACHMENT TYPICAL
HEIG HT SPLICE

-m_—- | WOOD JAMB ATTACHMENT TO STRUCTURE (OPTIONAL)

2 X _6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE
5/16" X 3” LAG SCREWS STARTING 6" FROM ENDS
THEN 24" 0.C. (1 1/2" EMBEDMENT)

X 6 VERTI JAMB ATTACH T _TO 2.000 PSI CONCRI
HILTI KWIK BOLT 3/8"” X 4" STARTING 6" FROM ENDS

-m-
- - - — - - - THEN 24" 0.C. (2 1/2" EMBEDMENT)
-m T e e d 2/ By e STARTNG 6 FROM ENDS

THEN 24" O.C. (1 1/4” EMBEDMENT)

ITW/RAMSET REDHEAD (TRU—BOLT) 3/8” X 4" STARTING 6” FROM ENDS
) THEN 24" O.C. (2 1/2” EMBEDMENT)

ALL TRACK ATTACHMENTS +/— 2" ALLOWED USING SYP OR SPF NO.2 OR BETTER ONLY 2 X_6 VERTICAL JAMB_ATTACHMENT TO HOLLOW C—90 BLOCK

SIMPSON 1/4" X 3" TITEN SCREWS STARTING 6" FROM ENDS,

USE PAIRS OF FASTENERS (3" APART)

AT 24" 0.C. (1 1/2" EMBEDMENT)

TABLE 2 HILTI 1/4” X 2—3/4" KWIK—CON ll+ SCREWS STARTING 6" FROM ENDS,
USE PAIRS OF FASTENERS (3" APART) AT 24” 0.C. (1 1/4" EMBEDMENT)

- - . 2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C-90 BLOCK (2000 PSI GROUT)
i Center Stile Location Max Design Loads HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6" FROM ENDS
Section M df Left Ed All d THEN 24" 0.C. (1 1/4" EMBEDMENT)
Panel Type (Measured from Le ge) owe (OR, USE FASTENERS FOR HOLLOW C—90 BLOCK)
Width 1t (in) 2nd (in) Positive Negitive *AGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
st (in nd (in *PREPARATION OF WOOD JAMBS BY OTHERS
(ft) (PSF) (PSF)

WwOO0D CONCRETE
STRUCTURE STRUCTURE

EMBEDMENT

HOLLOW BLOCK

STRUCTURE GROUTED BLOCK

STRUCTURE

0 [ shot | 92w | seao0 | s0s | 20 0 h
9' x 14
DESIGN LOADS
0 | Short | 48.000 ——— i il T Losos
| +23.7 PSF
—28.0 PSF

: ) ] el J REV | DESCRIPTION OF REVISIONS DATE BY
+15.8 PSF

MAX SIZE
76 | Shot | w300 | 0000 | fes | 219 _

~18.7 PSF
“8[5 | Shot | B200 | | 164 | 194

------

Thomas L. Shelmerdine, PE (TX PE #85829)
Structural Solutions, PA {TX Firm #F-004063)
~ Ny
=ix
5921-G W. Friendly mens oro, NC 27410

—_
x

ENTREMATIC

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105

MODEL C500 (CLAMSHELL)
AMARR OLYMPUS

SZE | DRAWNBY RS | DATE 8/07/15 DRAMNG NUMBER
B | cieckeoBY RR| DA 8/07/15 [RC-C509-100-00
SHEET 3 OF 3




